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S.CP.B.9: Binomial Probability 6

1 In the diagram below, the spinner is divided into 3 The fair spinner shown in the diagram below is
eight equal regions. spun three times. What is the probability of getting
a C exactly twice?
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Which expression represents the probability of the

spinner landing on B exactly three times in five 1 1
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, , 4 If the spinner below is spun five times, what is the
4 C 1)1 1{7 probability that it will land in the green area
) G 8 8 exactly three times?

2 A spinner is divided into five equal sectors labeled
1 to 5. What is the probability of spinning exactly

3 even numbers in 4 spins?
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5 A spinner is divided into eight equal sections. Five 8 A board game has a spinner on a circle that has five
sections are red and three are green. If the spinner equal sectors, numbered 1, 2, 3, 4, and 5,
is spun three times, what is the probability that it respectively. If a player has four spins, find the
lands on red exactly twice? probability that the player spins an even number no
1 25 more than two times on those four spins.
64
45 . . .\ .
2) —= 9 A circle that is partitioned into five equal sectors
512 .
has a spinner. The colors of the sectors are red,
75 X
3) 312 orange, yellow, blue, and green. If four spins are
made, find the probability that the spinner will land
4) % in the green sector

(1) on exactly two spins
(2) on at least three spins
6 In the accompanying diagram, a circle with a

spinner is divided into three regions such that ) . ) .
10 A spinner is divided into two regions, green and

1
P(4)=P(B)=P(C) = 3 red. The probability of the pointer landing on the

L. 2 . . .
green region is =. The pointer is spun 5 times.

3
What is the probability of the pointer landing on
- the green region exactly 2 times? What is the

probability of the pointer landing on the red region
at least 4 times?

11 The circle shown in the accompanying diagram is
divided into five regions of equal area labeled as
shown. On any spin of the spinner, the probability
of stopping on any of the regions is the same.

If the spinner is spun five times, what is the
probability that it will land in region 4 at most two
times?

7 The circle in the accompanying diagram is divided
into six regions of equal area and has a spinner.
The regions are labeled 1, 3, 6,9, 12, and 15. If the
spinner is spun five times, what is the probability
that it will land in an even-numbered region at most
two times?

( \\ . />\. a Find: P(3); P(even); P(odd)
' ' b Find the probability of:
\og / 15/ (1) spinning exactly 3 odd numbers on 4
\/12 \/ random spins
e (2) spinning at least 3 even numbers on 4
random spins
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12 The diagram below shows a disc with an arrow that 14 In the accompanying diagram, a regular hexagon
can be spun so that it has an equal chance of with a spinner is divided into six equal areas
landing on one of the 5 regions of the disc. labeled with a letter or number.

What is the probability that it will land on a prime
number? If the spinner is spun 3 times, determine
the probability that the spinner will land on a prime
number.

(1) exactly twice

(2) at least twice

(2) no more than twice

If the spinner is spun four times, find the
probability that it will land in a

(1) numbered area at most one time

(2) lettered area at least three times

13 In the accompanying diagram, the circle is divided
into five equal sections. Assume an unbiased
experiment when a spinner is spun.

15 A spinner is divided into six equal sections and
labeled as shown in the accompanying diagram.

a If the spinner is spun once, find: P(B);

P(number) Determine the probability of getting a letter in one

b If the spinner is spun three times, spin. Determine the probability of getting no
determine the probability it will land on letters in three spins. Determine the probability of
(1)no B’s getting at least two letters in three spins.

(2) at least two numbers
(3) no more than one number
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16

17

Circle O is partitioned into four regions as shown,

with ROS' a diameter. Assume an unbiased
experiment when a spinner is spun.

If the spinner is spun once, determine the
probability that the spinner will stop in

(1) region 4

(2) region C

(3) region D

If the spinner is spun three times, what is the
probability that

(1) the spinner will stop in region 4 exactly twice
(2) the spinner will stop in region D at least twice

In the diagram below, regular pentagon ABCDE is

inscribed in circle O. Radii O4, OB, and OD
divide the pentagon into regions 1, 2, 3. Assume
an unbiased experiment when the spinner is spun.

A

A~ —E

N\

B

If the spinner is spun once, determine the
probability that it will stop

(1) in region 1

(2) in region 2

If the spinner is spun three times, determine the
probability that it will stop

(1) in region 1 no more than once

(2) in region 2 at least twice

(3) in region 2 exactly once

Name:

18 In the accompanying diagram, circle O is

partitioned into six regions by diameters A0B,
COD, EOF, CD 1. AB, and m£FOB = 45.

a If the spinner is spun once, determine:
P(3); P(EVEN); P(7)

b Determine the probability of obtaining:
(1) exactly two EVEN's on three spins
(2) no more than one 3 on three spins
(3) exactly one 7 on four spins

19 In the accompanying diagram, the circle is divided
into four sections as shown, and

m@:mﬁ?:m@:mﬁz&#ll

B

Jie

C

a If the spinner is spun once, find: P(RED);
P(GREEN)

b Determine the probability of obtaining:
(1) exactly two GREEN's in three spins
(2) at least three RED's in four spins
(3) at most two YELLOW's in three spins
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